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1 memen (1) (145) (1425) (14:25) (1459
Is -
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3/4 ~2/5
2 The value of (61265) X (% X (512)_1/3 is -
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(@) 4

(C) 2
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In an office 80% of the employees are male. Among them 20% are
matriculates and remaining are graduates. Among the females 25% are
matriculates and the remaining are graduates. If the total numbers of
the female employees of the office is 600, how many graduates are in

the office?

TP ST H 80% HHAR! T3U 5 | ITH A 20% Afed U & ik 2w
|aP o | Afgarsi & 25% U & SR X Ja® ¢ | afe praiay i
AT HHANRY] Pt o JBAT 600 g, a1 PIATAT H fha- HId®d 872

(a) 3000
(b) 2370
(c) 2540
(d) None of these
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o’ A 60 litre mixture contains 20% milk. How much water
5 should be added to the mixture so that there is 15% milk
INn the mixture?

TP 60 dieX fyor o 20% g4 a1 g1 fAryor & foaan urht
ST ST 91fe¢ arfd faYor § 15% g g7

(a) 20

(b) 40
(c) 30
(d) 25
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@/ A positive number is by mistake divided by 6 instead
O of being multiplied by 6. What is the percentage of
the error committed on the basis of correct answer-

U GHRIAD G&IT Tddl 9 6 J fauTiorg g1 & aeimg
aﬁ%[una'cﬁ%lmﬁaiﬁ%anmwgégﬁmm
G|

(a) 10%

(b) 50%

(c) Approx. 97%
(d) None of these
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Two trains P and Q start at the same time in the opposite directions from two points and

4
both the trains after crossing a certain point C arrives at Q and P after 3% and 4 5 hours

respectively. At what speed is the second train Q running if the first is running at the
speed of 8 km/hrs.?
2 P 3R Q U ¥ wwr # A faigatt & Rradia Rwmedt # yrw At ¥ ok i 37 v Tfzrar

fag Cc B AR FA F TE AW Q AR P W 3 %aﬂ'{“l-% respectively ¢ & a1g et 1 afe 8
et / derhr nfa & weelt T W ¥ A gEdt g Q i A v W @2

(a) 6 km/hr
(b) 6 (2/3) km/hr
(c) 9 km/hr

(d) None of these
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P/ A and B can separately do awork in 20 and 15 days respectively. They
worked together for 6 days after which B was replaced by C. If the work

8 IS finished in next four days, the number of days in which C alone can do

the work will be

A 3R B HHET: 20 3R 15 & § U BTH B Gbd 2 1 I+ 6 fa=i & forg

TP A1Y H1H 641 forasd a1g B &1 C A dad fear a1 af¢ spTa ar o= o

HTH GH gl I1dT 8, a1 C 3l foha- fl § &1 #% g&dr ¢

“-l—

(a) 45 days
(b) 35 days
(c) 40 days

(d) None of these
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~ 9 If sin @ = 3 sin(0 + 2a), then the value of tan(0 + a) + 2 tan a is
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In a cyclic Quadrilateral ABCD, diameter of the circumcircle is
AG, if £ZBDC = 42°, then £LACB is:-

(a) 42°
(b) 43°
(c) 48°
(d) 58°
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X a
and b = then the value of — is-
xX—y a+b
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If average weight of 50 people is 63 kg. If by mistake 83 is written In
place of 38. Then what was the real average?

| 127 R 50 @l &7 eitad gl 63 fal 21 afe Teret & 83 B 38 F WH W
for@r T g1 Y arfae NAd T UT?

e ™
4
e, f

(a) 62.1

(b) 63.1
(c) 64.1
(d) 65.1
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Solve for x if xa3 , xP3, X3abla+b) = (25)25 and a+b =5

(@) 2
(b) 3
(€)0
(d) 1
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= ) pilot flies an aircraft at a certain speed for a distance of 800 km. He
_ 14 could have saved 40 min by increasing the average speed of the plane
| by 40 km/hr. Find the average speed of the aircratft.

U® UIgdc Ush faH1E oY 800 fpHt &t g8t & forw uer fAifda nifa @ Ssar g1
agﬁnﬁaﬁaﬁﬂawﬁmo%nﬁ/ﬁagmmﬁmzwmmlﬁnﬂ
&1 3Nd i 9 HieTE|

(a) 200 km/hr
(b) 300 km/hr
(c) 240 km/hr
(d) None of these
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A kite is flying, attached to a thread which is 165 m long. The thread
makes an angle of 30° with the ground. Find the height of the kite from
the ground, assuming that there is no slack in the thread.

U® Uil 38 V51 8, Uh YT A S[al g SNl 165 Hiex ddl g1 YT STHiA &
WﬁBO°WWW%IGﬁ§%WﬁWWWW,WW
8¢ fop 4Tt A ig il 81 |

(a) 82.5m

(b) 82m
(c) 75m
(d) 80 m
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' 16 The entry ticket at a fun park was increased in the ratio 7 : 9, due to which |
footfalls fell in the ratio 13 : 11. What is the new daily collection (in Rs), If
the daily collection before the price hike was Rs. 2275007
frdt w1 urdh & Tt fepe S gea ¥ 7:9 & 3UTT A 93 88 oIS sRUTUIES! |
DI IS H 13:11 & T | BT 3115 | ufafe 1R arean Tar vaa=e £)

fa=r el afe Fluda 9 & uga ufafesT 227500 TUal ST HARIA ST UT?

(1] 23750¢
(2) 247500
(3) 232500

(4) 242500
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177 The difference between simple and compound interests compounded
annually on a certain sum of money for 2 years at 4% per annum is Rs.
144. The sum is

gﬁnﬂéﬁw&rﬁ 2 g1 & fore 4 yfowra aiffe o3 @ aiffes vy A waifoE

qrel ATYROT TS 3R ST H 3aX 144 . 8 1 AR -2

(1) 18000

(2) B6000d
(3) 90000
(4) 270000
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18 Aisthrice as good a workman as B. C alone takes 48 days to paint a

house. All three A, B and C working together take 16 days to paint the
house. It will take how many days for B alone to paint the house?
A, Baﬁ H S T ST I CAPN TP B RPITTIASD
I PTHAT AT 8 | TP HIY B PIAEY_ B 3R C STRBIUT
ﬁ 16 e A4 €1 SH R B U= o & fore s at B &1 fvaq fear arlae

(1) 32

iZE 64

(4) 72
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19 find the mean, mode ,and median ,for the

foIIowmg data/3iTd aﬁmm dg8d P, H‘f@ﬂ

13,18,13,14,13,16,14,21,13
1[15,13,14]

2)15,14,14
3012,13,15
412,413
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20 7T
> — radian is equal to@?ﬂ’q {9 JTd DY 2

[1)105]
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